CBT AUGUST SOCIAL SCIENCE ANSWER KEY

Subject: Social ScienceTdSH - ATATTAR AT

Time: - hrs. THYT -B¢Maximum Marks - 10 37T dH3TH-10

Instructions:1. The question paper has 10 questions in all. All questions are compulsory.
2. Marks are indicated against each question.
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Match the following items given in column A with those in column B. Choose
answers from the options below:

HITHA AT AT T3NSI ARIhITHB .
AU S craagATaIdHR AU i ediHA 3O g

Column A ‘Column B

a) 1789 i) The Napoleonic CodesTdIToIIAhIS

b) 1804 ii)French RevolutionSFTEIATSRI T

c) 1871 iii) The Treaty of Greece Frahraier

d) 1832 iv) Unification of Germany STHATRTUIHIOT

Ans-a-ii, b-i,c-iv,d-iii

1789-French Revolution

1804-The Napoleonic Code (Under the code all male citizens are equal: primogeniture, hereditary
nobility, and class privileges are extinguished; civilian institutions are emancipated from ecclesiastical
control; freedom of person, freedom of contract, and inviolability of private property are fundamental
principles.)

1871- Unification of Germany

1832- The Treaty of Greece (The Treaty of Athens between the Ottoman Empire and the Kingdom of
Greece, signed on 14 November 1913, formally ended hostilities between them after the two Balkan
Wars and ceded Macedonia—including the major city of Thessaloniki— most of Epirus, and many
Aegean islands to Greece.)

‘Nationalism’, which emerged as a force in the late 19th century, means

(a) strong devotion to one’s own country and its history and culture.

(b) strong devotion to one’s own country without appreciation for other nations.
(c) strong love for one’s own country and hatred for others.

(d) equally strong devotion to all the countries of the world.

Ans(a) strong devotion to one’s own country and its history and culture.




Nationalism is loyalty and devotion to a nation especially as expressed in a glorifying of one nation
above all others and a stressing of the promotion of its culture and interests.
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Which of the following countries did not attend the Congress of Vienna?

A ARl TG AT TATR I AN A T g 3T?
(a) Britain TsicsT(b) Russia &F
(c) Prussia EI‘f\I'ZIT(d)Swnzerland mﬁg

Ans-(d) Switzerland
Treaty of Vienna of 25 March 1815, (also known as "Treaty of General Alliance") when Austria, Britain,

Prussia and Russia agreed to put 150,000 men in the field against Napoleon Bonaparte.

The term ‘Universal Suffrage’ means:

(a) the right to vote and get elected, granted only to men.

(b) the right to vote for all adults.

(c) the right to vote and get elected, granted exclusively to property-owning men.
(d) the right to vote and get elected, granted only to educated men and women.

Ans-(b) the right to vote for all adults.
universal adult suffrage is about the right to vote, while universal adult franchise is about the right to
contest in an election. Both concepts are based on the principles of democracy and equality, and are

essential for ensuring that every citizen has a say in the affairs of the state

'Frad RFAITSR Ascahr3rde:

(1) e 3iRTa a3 ftsR, haoqesien e

(&) T aaEhiaaicca3TaR |

(&) dreeA AR AT RIagIe3tnR, Ve Taa AT eengesieh ieaTaraT|
(@) AR a3 RS T RISaIeS 3 RAR R e |

What type of resource are rocks? agaﬁmmma%?
A. Abiotic 3TSifaeh B. RenewableaTdTaniofi
C. Potential&THdT D. BioticaTaifesh

Ans- Abiotic

An abiotic factor is a non-living part of an ecosystem that shapes its environment. In a terrestrial
ecosystem, examples might include temperature, light, and water. In a marine ecosystem, abiotic
factors would include salinity and ocean currents.

What are shelterbelts?
A. Cultivating making steps. B. Planting lines of trees to create shelter
C. Planting huge bush plants in deserts D. Planting near water beds

Ans- B. Planting lines of trees to create shelter

Shelterbelts are rows of trees, usually along fence lines. They are planted mainly to protect
animals or crops from cold winds, but also to give shade in hot weather. In regions such as
Canterbury where there is a lot of cultivated land, shelterbelts also reduce wind erosion.

AU ATFATE ?(AecIaoca s ?)
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Where is the Arid soil found? <[ GEI"wiiIE\éI%EUICIIéEIIEiI%?

A. RajasthanISTEATEIB. GujaratI[aTd

C. Assam3T8HD. Madhya PradeshaTeaygcer

Ans-a.Rajasthan

in India, the arid soil is mainly found in parts of Western Rajasthan, Haryana, and Punjab and
extends up to the Rann of Kutch in Gujarat. They are one of the most prevalent soil orders in
the world. It is also called desert soil in some places

Which is the most widely spread soil in India?
A. Black soilB. Alluvial soilC. Red soilD. Arid soil

R AHHAI AR eATThEIUholgs [HCCIhlTHg ?
A FTAREE  B.SAGHACS  C. WA D YeHAEd

Ans- b.Alluvial soil

Alluvial soil is found in the regions of Indo-Gangetic plains, Punjab, Haryana, Uttar Pradesh, Bihar, West
Bengal, Assam as well as in the northern parts of Gujarat. Alluvial soil is formed by depositions from
surface water and thus is also known as depositional soils.

Money cannot buy all the goods and services that we may need to have a good life. A list of things
required for a good life is given below. Which among the following are things money cannot

buy A ITETUSIRAATT AL NSl Tl ehI g H Ueh 3TESTSH e S leteh o U AT T ehclTE Iehcll
R CE C O I | C R E B e G BB AR ST | B e IS EC R B R E A B R LR B [ S B R R B [ARER )
CIoTHehdT?
(i) Full protection from infectious diseases Wﬁ@'@ﬂ?ﬁ
(i) High-quality educationmﬁ
(iii) A luxury home Th T IRITTER
(iv) A pollution-free atmosphere in every part of the country.é%ﬁ%?%@ﬁww
(a) (i) and(ii)

(b) (ii) and (iii)

(c) (i), (ii), and (in)

(d) (i) and (iv)

Ans- (c) (i), (ii), and (iv)
Money cant solve the problem of pollution. For e.g-Air purifiers

HDI stands for ‘Human Development Index’ that focuses on Fill in the blanks with one of the
following options:

(a) life expectancy (b) gross enrolment ratio for three levels of schooling

(c) national income (d) All the above
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Ans-(d) All the above

The Human Development Index (HDI) is a summary measure of average achievement in key dimensions

of human development: a long and healthy life, being knowledgeable and having a decent standard of
living.




